Table S1. Significance of ANOVA analysis.

Days
Avera Number froi’n Number
verage umbe
8 of bulbs Total Marketable Unmarketable Double Waste . ]
Dry matter  bulb . . . . sowing of Firmness NAE
. per unit  yield yield yield bulbs bulbs
Treatment weight to scales
area
harvest
k
[%] [kgl [bulbs m?] [tha'] [t ha] [t ha'] [tha'] [tha'] [days] [bulb?] [kgcm?] lEg'%]
Year (Y) n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. * ** n.s.
Accession (A) n.s. o n.s. o ** * o ** n.s. o ** *
Planting Date (PD) ** n.s. ** ** ** n.s. n.s. n.s. ** * ** *
Nitrogen (N) ** * ** ** ** o n.s. n.s. n.s. ** ** **
Interactions

Y x A n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. i i n.s.
Y x PD n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s.
Y x N n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. ** n.s. n.s.
A xN n.s. n.s. n.s. i g * n.s. n.s. n.s. n.s. i ok
A xPD * g x* n.s. n.s. n.s. n.s. n.s. n.s. * i n.s.
N x PD n.s. n.s. n.s. ** wE * n.s. n.s. n.s. n.s. o n.s.
Y x AxN n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. i n.s.
Y x A xPD n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. * n.s.
Y x N x PD n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. g n.s. *%
A xN xPD * n.s. n.s. i n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s.
Y x A xN xPD n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s.

n.s. =not significant; * = significant at p < 0.05; ** = significant at p < 0.01.



Figure S1. Monthly average trend of the daily potential evapotranspiration during the two years of cultivation.
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Figure S2. Rainfall and air temperature trends during the first year, 2005/2006, at the test site. The dashed lines show the average rainfall and

temperature trends in the period between 2002 and 2020.
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